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General Instructions:
(1) This question paper consists of 30 questions.
(ii) All the questions carry equal marks.
Read the given passage carefully and answer the questions. (Questions 1 to 7) 1x30=30

The taj mahal is situated on the right bank of the River Yamuna in Agra. It is built of

white marbel. It was built by Emperor Shah Jahan

wife, Mumtaz Mahal.

(@)‘t’ of “taj’ should be written in capital letter.

(b) ‘m’ of ‘mahal’ should be written in capital letter.

(c)‘t” and ‘m’ of ‘taj mahal’ should be written in capital letter.

(d) ‘h’ of her should be written capital.

1.
2.
(a) located
(c) made
3.
(a) down
(c) beside
4.
(a) marbal
(c) marble
5.

(a) bank
(c) Mumtaz Mahal

Which of the following can be used in place of ‘situated’?

(b) built
(d) replace

Which of the following is the opposite of ‘right’ in the passage?

(b) left
(d) wrong

Which of the following is the correct spelling of ‘marbel’?

(b) marbale
(d) marble

What does ‘It’ stand for in the given passage?

(b) river
(d) The Taj Mahal

memory of her beloved
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10.

11.

12.

It was built by Emperor Shah Jahan memory of her beloved wife, Mumtaz
Mahal. (Choose to correct Preposition to fill in the blank)

(@) on (b) for

(c)in (d) at

Which of the following should be used in place of ‘her’?
(a) their (b) its
(c) his (d) our

Read the given passage carefully and answer the questions. (Questions 8 to 12)
A lion was sleeping under a tree. A mouse came out of its hole and began to play upon the

lion’s body. A lion woke up. He caught the mouse in his paw. The mouse begs for mercy.

The word ‘tree’ is

(a) an adjective (b) a noun

(c) an adverb (d) a pronoun

The word ‘came’ is

(a) an adverb (b) a pronoun
(c) averb (d) a noun

Which of the following is the correct sentence?
(@) The lion woke up. (b) The lion wakes up.

(c) The lion wakes down. (d) A lion woke up.

Which of the following should be used instead of ‘begs’ in the passage?
() beg (b) bag
(c) begging (d) begged

Which letter is silent in the word ‘mercy’?
(a) ‘e’ () y’
(C) Crﬂ (d) LC’
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13.

14.

15.

16.

17.

18.

Answer the questions about the information shown in the diagram. (Questions 13 to
18)

flour Cornflake

Chocolate

bars coconut biscuits
vanilla butter eggs
cocoa baked sultanas

icing sugar dates

Which of the two ingredients in chocolate bars that are not in cornflake biscuits?
(a) cocoa and flour (b) icing sugar and butter

(c) vanilla and cocoa (d) flour and icing sugar

Which two fruits are in cornflake biscuits?
(a) eggs and sultanas (b) sultanas and dates

(c) eggs and dates (d) cocoa and dates

Which three ingredients are in both recipes?
(@) flour, coconut, butter (b) flour, eggs, butter

(c) eggs, cocoa, butter (d) butter, coconut, icing sugar

The word ‘baked’ is not ingredient. What is it?
(a) anoun (b) an adjective

(c) averb (d) an adverb

How many vowels and consonants are in the word ‘chocolate’?
(a) 3and 4 (b) 4and 5
(c)3and5 (d)3and 5

How many syllables are in this word ‘cornflakes’?
(a)3 (b)1
(c)2 (d) 4
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19.

20.

Read the following pieces of conversation and answer the questions: (Questions 19 to
22)

WHAT BOWS WE 5O TN LOWDON? )

Why has Eric called David?
(a) to watch the sunset (b) to be at the beach
(c) to see the old people (d) botha &b

David’s cousin stays in a ‘hotel’. Which type of noun is it?

(a) proper noun (b) common noun

(c) pronoun (d) collective noun
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21.

22.

23

24,

25.

26.

217.

28.

29.

30.

Whose grandparents are in the picture?

(a) Eric

(c) David’s cousin

(b) David

(d) cousin’s friend

Which part of speech is letter ‘I’

(a) proper noun

(c) pronoun

Do as directed:

(b) noun
(d) adjective

Sit down (select the correct punctuation mark)

(@) question mark (?)
(c) full stop (.)

(b) exclamation mark (1)

(d) semi colon (;)

of musicians
(a) atroop (b) a fleet
(c) agang (d) a band
How many syllables do the word ‘beautiful’ has?
(a) one (b) two
(c) three (d) four

I thought the movie ended abruptly. Which type of adverb is ‘abruptly’?

(a) adverb of time

(c) adverb of manner

She usually eats at home

(b) adverb of place
(d) adverb of frequency

she likes cooking.

(a) though (b) because
(c) but (d) so

Mahi is waiting for you the bus stop.
(@) on (b) between
(c) at (d) into

She up early in the morning.
(a) woke (b) waking

(c) woked (d) wakes

Raj to complete his work yesterday.
(a) is trying (b) am trying
(c) was tried (d) was trying
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